PRACTICE QUESTIONS FROM PREVIOUS CHAPTERS.1
CHEMISTRY
1. 1s, 2s, 2p, 3s, 3p are the sub shells present in an atom. Of them which is the sub shell having highest
energy.
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Ans. 3p

2. Itis in the ........ , oxidation takes place in a galvanic cell. ( Anode/Cathode)

Ans. Anode
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3. ‘A’ is an atom having 4 shells. If the last electron is filled in the third shell, which will be the block in
which the element belongs to ?

Ans.d block. [Itis in d block elements, last electron is filled in penultimate shell.]
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4. Molecular mass of carbon dioxide is 44. What will be the mass 11.2 L. of CO, at STP?
Ans. 22 g [22.4 L of any gas at STP is one mole. So 11.2 L. =% mol = ¥x44 = 22 g]
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5. A tightly closed plastic bottle placed in a refrigerator gets crumbled. Name the gas law related to it.
Ans. Charles law. [ Volume decreases with decrease of temperature]
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6. Atomic number of an element is 22.

a.Write down its subshell electronic configuration.

b. From the configuration, find the period, block & group of the element.

Ans.a. 1s* 2s* 2p® 3s* 3p° 3d? 45’

b. period:4 [ Highest shell number]

block: d [ Last electron is filled in the d sub shell]

group:2+2=4 [ Sum of the number of electrons in outermost ‘s’ sub shell and electrons in the ‘d’ sub shell]
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7. Copper rod and Zinc rod are the two electrodes of a galvanic cell?

a. Which will be the cathode of the cell? Justify.b. Write the equations of reactions take place in each
electrode.

Ans.a. As copper is less reactive than zinc, copper will be the cathode.

b. Cathode: Cu** + 2e - Cu Anode: Zn -Zn* +e
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b. Cathode: Cu** +2e - Cu  Anode: Zn —Zn*" +e

8. Volume of 2 g of hydrogen gas (H,) at STP is 22.4 L. What will be the volume of 32 g oxygen gas (O-)
at STP? (Given atomic mass of hydrogen is 1 and that of oxygen is 16)

Ans. 224 1. [22.4 L of any gas at STP is one mol. 2gH,=32g0,;=1mol]
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9. Give two examples for metals that can be purified by distillation. Which characteristics of these metals
are made use of here?

Ans. Zinc and mercury. They are the metals of low boiling point.
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10. Flux + gang = .........
Ans. slag
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